Installation Guide

Rack Rail Depth
Adapter Kit

Models: SRRAILDPTH1U, SRRAILDPTH2U

Espanol 3 * Frangais 5 * Pycckun 7

SRRAILDPTH1U SRRAILDPTH2U

-

E
Q
Q
Q

e o oo o of

Adapter Brackets (x2) M6 Screws (x8) Adapter Brackets (x2) M6 Screws (x16)

O O

M6 Cup Washers (x8) M6 Cup Washers (x16) M6 Cage Nuts (x16)

( )\
WARRANTY REGISTRATION EEEE
Register your product today and be e — . . .
automatically entered to win an ISOBAR® _ = - . .I F .

surge protector in our monthly drawing! ez [ i -
)

tripplite.com/warranty

TRIPPLITE

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support
Copyright © 2021 Tripp Lite. All rights reserved.




Installation

o
© Rack-Mounting Holes
N

Equipment-Mounting Holes

/707

SRRAILDPTH1U shown. b

To INCREASE the Depth of the To DECREASE the Depth of

Rack the Rack

Use for rack-mounting LONGER Use for rack-mounting SHORTER

components. components.

n Position the brackets so the rack-mounting holes are n Position the brackets so the rack-mounting holes are
on the outside of the rack’s front vertical rails. on the inside of the rack’s front vertical rails.

a For 1U brackets, use two of the supplied M6 screws, a For 1U brackets, use two of the supplied M6 screws,

washers and cage nuts per bracket to secure the top washers and cage nuts per bracket to secure the top
and bottom rack-mounting holes to the rails. For 2U and bottom rack-mounting holes to the rails. For 2U
brackets, secure the top, bottom and two center holes. brackets, secure the top, bottom and two center holes.

Secure your equipment’s mounting flanges to the Secure your equipment’s mounting flanges to the
brackets’ equipment-mounting holes. brackets’ equipment-mounting holes.

4 b' < N\ N\
? »
: : %
* ) 5
v Q Q
\ ] a
E > E b
: : NA / gy "
\ _R ’: j R 2 .
;‘ v,¢®,,, :
iy M 5 ®
SRRAILDPTH1U shown. : SRRAILDPTH1U shown. I TH
. LIl I Bl Ll 1S S 7/

Tripp Lite has a policy of continuous improvement. Specifications are subject to change without notice.
Photos and illustrations may differ slightly from actual products.

TRIPPLITE ®

Excellence

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support

21-04-297 93-3E42_RevA

2



Guia de Instalacion

Juego de Adaptador de
Profundidad de Riel para Rack

Modelos: SRRAILDPTH1U, SRRAILDPTH2U

English 1  Frangais 5 * Pycckun 7

Lista de Partes

SRRAILDPTH1U SRRAILDPTH2U

[VUUUUM\
e o oo o of

Q

Soportes de Adaptador (x2) Tornillos M6 (x8) Soportes de Adaptador (x2) Tornillos M6 (x16)
Arandelas de copa M6 (x8)  Tuercas de fijacion M6 (x8) Arandelas de Copa M6 Tuercas de fijacion M6

(x16) (x16)

TRIPPLITE

1111 W. 35th Street, Chicago, IL 60609, EE. UU.  tripplite.com/support
Copyright © 2021 Tripp Lite. Todos los derechos reservados.

3



Instalacion

N
| 0
R
5

Se muestra SRRAILDPTH1U. b

Para AUMENTAR la
Profundidad del Rack

Use para componentes MAS GRANDES
para instalacion en rack.

n Coloque los soportes de modo que los orificios para
instalacién en rack estén en la parte exterior de los rieles
verticales frontales del rack.

a Para soportes de 1U, use dos de los tornillos M6,
arandelas y tuercas de fijacion suministrados por cada
soporte para fijar los orificios superior e inferior para
instalacion en rack a los rieles. Para soportes de 2U,
asegure los orificios superior, inferior y los dos centrales.

Asegure las bridas de instalacion de su equipo a los
orificios de instalacién del equipo de los soportes.

Orificios para Instalaciéon en Rack

Orificios para Instalacion del Equipo

Para REDUCIR la Profundidad
del Rack

Use para componentes MAS PEQUENOS
para instalacion en rack.

n Coloque los soportes de modo que los orificios para
instalacion en rack estén en el interior de los rieles
verticales frontales del rack.

a Para soportes de 1U, use dos de los tornillos M6,
arandelas y tuercas de fijacion suministrados por cada
soporte para fijar los orificios superior e inferior para
instalacion en rack a los rieles. Para soportes de 2U,
asegure los orificios superior, inferior y los dos centrales.

Asegure las bridas de instalacion de su equipo a los
orificios de instalacién del equipo de los soportes.

-

u
/

\

e L LR}

N

g

2

>

I
Se muestra SRRAILDPTH1U.
. NN NI

a9 \\N

Z

Se muestra SRRAILDPTH1U.
Ll [IN]

i 1 Z

Tripp Lite tiene una politica de mejora continua. Las especificaciones estan sujetas a cambio sin previo aviso.
Las fotografias e ilustraciones pueden diferir ligeramente de los productos reales.

MASDE ) S
ANOS: /

Excelencia en

TRIPP-LITE

Manufactura

1111 W. 35th Street, Chicago, IL 60609, EE. UU. « tripplite.com/support

21-04-297 93-3E42_RevA



Guide d'installation

Trousse pour adaptateur de la
profondeur des rails d'un bati

Modéles : SRRAILDPTH1U, SRRAILDPTH2U

English 1 » Espaiiol 3 *« Pycckun 7

Liste des pieces

SRRAILDPTH1U SRRAILDPTH2U

[VUUUUM\
e o oo o of

N N
b o )} o )
Supports d'adaptateur (x2) Vis M6 (x8) Supports d'adaptateur (x2) Vis M6 (x16)
Rondelles a collerette M6 Ecrous a cageM6 (x8) Rondelles a collerette M6 Ecrous & cage M6 (x16)
(x8) (x16)

\\\\\\\\\\\\\
1111 W. 35th Street, Chicago, IL 60609 USA tripplite.com/support
Droits d'auteur © 2021 Tripp Lite. Tous droits réservés.

5



Installation

N
®
N

<
N
x
SRRAILDPTH1U illustré. b

Pour AUGMENTER la
profondeur du bati

A utiliser pour le montage en bati de
composants plus LONGS.

n Placer les supports pour que les trous pour le montage
en bati se trouvent a I'extérieur des rails verticaux avant
du bati.

a Pour les supports 1U, utiliser deux des vis M6 fournies,
des rondelles et des écrous a cage fournis par support
pour retenir les trous supérieurs et inférieurs pour le
montage en bati aux rails. Pour les supports 2U, fixer les
trous supérieurs, inférieurs et les deux trous du centre.

Fixer les brides de montage de I'équipement aux trous de
montage de I'équipement des supports.

Trous pour le montage en bati

Trous pour le montage de
I'équipement

Pour REDUIRE la profondeur
du bati

A utiliser pour le montage en bati de
composants plus COURTS.

n Placer les supports pour que les trous pour le montage
en bati se trouvent a l'intérieur des rails verticaux avant
du bati.

a Pour les supports 1U, utiliser deux des vis M6 fournies,
des rondelles et des écrous a cage fournis par support
pour retenir les trous supérieurs et inférieurs pour le
montage en bati aux rails. Pour les supports 2U, fixer les
trous supérieurs, inférieurs et les deux trous du centre.

Fixer les brides de montage de I'équipement aux trous de
montage de I'équipement des supports.

-

AN\

SR

AN

A\

B
8
/o o of
AY

77}

AT
gy
¥ &
Cd N
S0
Z

000000 D00 D 00 L 00 500 D L0 L L5

N
SRRAILDPTH1U illustré.
\ RN Y

~

N

a9 W\

Z

SRRAH:DPTH1U illustré.
TR [N Tﬂ

La politique de Tripp Lite en est une d'amélioration continue. Les caractéristiques techniques sont modifiables sans préauvis.
Les produits réels peuvent différer Iégerement des photos et des illustrations.

TRIPP-LITE

o

D'excellence

Industrielle.

1111 W. 35th Street, Chicago, IL 60609 USA tripplite.com/support

21-04-297 93-3E42_RevA



PyKoB0/iCTBO N0 YCTaHOBKe

KomnneKT npucnocobnexnit gns
perynupoBKu ry6uHbI CTORYHbIX LUNH

Mopenu: SRRAILDPTH1U, SRRAILDPTH2U

English 1 « Espaiol 3 * Frangais 5

SRRAILDPTH1U SRRAILDPTH2U

[VUUUUM\
e o oo o of

lepexoaHble KPOHLUTEHbI (2 LWT.) BuHTbl M6 (8 Wr.) lepexoaHble KPOHLUTEHbI (2 LWT.) BuHTbl M6 (16 w.)

O O

YaweobpazHble waiibbl M6 (8 wr.) 3aknagHble raitku M6 (8 wr.) YaweobpazHble waitbbl M6 (16 wr.) 3aknagHble raitkun M6 (16 wwT.)

EAL

TRIPPLITE

nnnnnnnnnnnnnnnnn

T
KavecTsa

1111 W. 35th Street, Chicago, IL 60609 USA « tripplite.com/support

OxpaHsetca aBTopckum npasom © 2021 Tripp Lite. Mepeneuatka 3anpeLyaetca.

7



YctaHoBKa

N
©
N

Ha unmocmpayuu nokasana modens
SRRAILDPTHTU.

Lina YBENMUYEHWUA rny6unbI cTOMKH

Ina montaxa B croitky JYINHHOMEPHbIX KomnoHeHTOB.

n Pacnonoxure KpoHLLTeliHbI Takum 06pa3om, uTo6bl 0TBEPCTUA ANA CTORYHOTO
MOHTaXa HaXOANANCH CHAPYXN MO OTHOLLEHNIO K MepeHIUM BEPTUKaNbHbIM
LLIHAM CTOWKN.

B [ins KpoHwTeiiHoB pa3mepom 1U ucnonb3yiite NocTaBAseMble B KOMMNEKTe
BUHTBI M6, Lwaitbbl 1 3aKnafHble raiiku Ans QUKCaLIA BEPXHUX U HIBKHUX
OTBEPCTIN ANA CTOEUHOTO MOHTAXKa Ha LUMHAX. [INA KPOHLUTEIHOB pa3Mepom
2U 3aduKcupyiiTe BepxHee, HIKHee 1 [1Ba LLEHTPANbHbIX OTBEPCTUA.

B MpuKpenuTe MOHTaXHbIe GNaHLibl CBOEro 060pyL0BaHNA K KPOHLLTEHAM,
MCNONb3yA 0TBEPCTUSA AN MOHTaXa 000py0BaHUA.

OTBep(TMﬂ ANA (TOeYHOro MoHTaXa

OTBepcTUA ANA MOHTaXa 060pyA0BaHNA

Jina YMEHbLUEHUA rny6unbI cTOMKN

[ina montaxa B croitky KOPOTKOMEPHbIX komnoHeHToB.

n Pacnonoxure KpoHLLTeliHbI Takum 06pa3om, uTo6bl 0TBEPCTUA ANA CTORYHOTO
MOHTaXa HaXOANANCb BHYTPU N0 OTHOLLIEHMIO K NepefHNM BEPTUKANbHBIM
LLIKHAM CTOMKN.

B [ins KpoHwTeiiHoB pa3mepom 1U ucronb3yiite NoCTaBAAeMble B KOMMNEKTE
BUHTBI M6, Lwaitbbl 1 3aKnafHble raiiku Ans QUKCaLA BEPXHUX U HIBKHUX
OTBEPCTIN ANA CTOEUHOTO MOHTAXKa Ha LUMHaAX. [INA KPOHLUTEiHOB pa3Mepom
2U 3aduKcupyiiTe BepxHee, HIKHee 1 [1Ba LLEHTPaNbHbIX OTBEPCTUAS.

B MpuKpenuTe MOHTaXHbIe GNaHLbl CBOEro 060pyL0BaHNA K KPOHLLTEHAM,
MCNoNb3yA 0TBEPCTUSA AN MOHTaXa 000py0BaHUA.

4 3 N A 3 )

Q \]

" : .

: :

N 3 . :

R : Z :

" i : :

V Q Q :

] g a X

: i | A :

o)

NI g 3 PSl,

Ha unnioctpaumn nokasaqa mogens SRRAILDPTH1U. Y Ha unnioctpaumn nokasaxa mogens SRRAILDPTH1U. N TH

. LIl I BN 111 S 7/

Komnaua Tripp Lite noctoAHHo COBEPLUEHCTBYET CBOK NPOAYKLMIO. B ¢BA3 € 3TUM BO3MOXHO 3MEHEeHIe TeXHNYeCKiX XapaKTepucTuk 6e3 npeaBapuTenbHOro yBeAoMIeHNA.
BewHuii Bug peanbHbIX W3eNNI MOXeT HeCKONbKO 0TANYATbCA 0T npeaCTaBAeHHOro Ha (I)OTOI'pad)VIﬂX nunncTpaumnax.

%

MpoaykuMs BbiCero

TRIPP-LITE

KauecTsa

1111 W. 35th Street, Chicago, IL 60609 USA - tripplite.com/support

21-04-297 93-3E42_RevA



